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4個分數小數的四則運算

4.8 − 10 × 4.3 ÷ 5 − 3 × =
6
1

− + 2 × 4.7 =
4
3

3
1

+ 20 × 3 ÷ 5 − 3 × =
3
1

3
1

− 2.4 × 2 − 16 × 4.3 ÷ 4 =
5
1

− 6 × ÷ 3 − 3 × 2.5 =
3
2

2
1

− 25 × 5.5 ÷ 5 + 5 × 2.5 =
5
2

+ 5.2 × 3 − 2.5 =
4
3

3.9 + × 4 − =
5
3

3
2

2 + 15 × ÷ 3 − 5 × =
4
1

4
1

− 8 × 5.1 ÷ 2 + 2 × 5.8 =
3
2
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4個分數小數的四則運算

4.8 − 10 × 4.3 ÷ 5 − 3 × = (− ) = (−4 )
6
1

10
43

10
3

− + 2 × 4.7 = = 9
4
3

3
1

60
589

60
49

+ 20 × 3 ÷ 5 − 3 × = = 11
3
1

3
1

3
34

3
1

− 2.4 × 2 − 16 × 4.3 ÷ 4 = (− ) = (−21 )
5
1

5
109

5
4

− 6 × ÷ 3 − 3 × 2.5 = (− ) = (−7 )
3
2

2
1

6
47

6
5

− 25 × 5.5 ÷ 5 + 5 × 2.5 = (− ) = (−14 )
5
2

5
73

5
3

+ 5.2 × 3 − 2.5 = = 13
4
3

20
277

20
17

3.9 + × 4 − = = 5
5
3

3
2

30
169

30
19

2 + 15 × ÷ 3 − 5 × = 2
4
1

4
1

− 8 × 5.1 ÷ 2 + 2 × 5.8 = (− ) = (−8 )
3
2

15
122

15
2
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